
65 °C

dp 30 kPa

90 °C

P7

DN 50

P1

DN 50

P2

DN 50

PI P3

PN 6

PI P3

PN 6

TI
P4

90 °C

TI
P4

65 °C

1.12999999523163 l/s

P
VYP1

D
N

 15

1.13 l/s

80 °C

Tělocvična Jih

60 °C

S8-1

DN 40

65,3 kW
S1-1

DN 40

PI S3-1

PN 6

S2-1

DN 40

TI
S4-1

80 °C

TC

S5-1

0.78 l/s

tl. ztráta větve: 18 kPa

S7-1

0.78 l/s

S10-1

D
N

40

S9-1

0.52 l/s

80 °C

Tělocvična sever

60 °C

S8-2

DN 40

76,3 kW
S1-2

DN 40

PI S3-2

PN 6

S2-2

DN 40

TI
S4-2

80 °C

TC

S5-2

0.91 l/s

tl. ztráta větve: 19 kPa

S7-2

0.91 l/s

S10-2

D
N

40

S9-2

0.61 l/s

M
T

TI
S4-1

80 °C

TI
S4-2

80 °C


